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Sl. No.1
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Choose the correct form of verb to fill in the blank.

The price of oranges rising 1in the market.
(1) are {(2) have
(3) 18 (4) had

1) 1
(2) 2
3) 3
(4) 4

r:|- 1:|F{_V'I. qQ{_‘I -I:l’ ‘-H'F[—IIT e A ‘j’_,I?} T:" Ff

(1) =i (2) ZiaE

(3) =i (4) =z

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11201]
2[Option ID=11202]

3[Option ID=11203]
4[Option ID=11204]

SI. No.2
QBID:1007177




From among the four options given. choose the most appropriate sequence for the four
phrases given below to make a meaningful sentence :

(A) wages were golng to be cut and

(B) the workers were up 1n

(C) decided to go on strike

(D) arms when they heard that their

Choose the correct answer from the options given below:

(1) (D). (A)L(C). (B)
(2) (B). (D). (A). (C)
(3) (C). (B). (D). (A)
(4) (A (C) (B). (D)
(1) 1
(2) 2
3) 3
(4) 4

i~ i~

- s, R G . — fat
HETATET FTHTEN =R STEd ShHHE =AdE-0g Ry,

(A) T 32T HEG R (B) i Fo H
(C) FwmEed (D) =

(E) % W 9% % %
(1) CEDBA (2) ABCDE
3 BCDEA (4 CDABE

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11205]
2[Option ID=11206]

3[Option ID=11207]
4[Option ID=11208]

SI. No.3
QBID:1007178




L]

Which two of the following words take ‘Irregular’ verb forms

(A)  begin
(B) defy
(C) manage

(D) hite

Choose the correct answer from the options given below:

(1) (A) and (D) only
(2) (A) and (B) only
(3 (B) and (C) only
(4) (B) and (D) only
(1) 1
(2) 2

(3) 3
(4) 4

“FH ToheT® Ued TE | H AR A | 9 Y g w7

(1) == (2) Tv==
(8) TFd (4) T==
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11209]
2[Option ID=11210]
3[Option ID=11211]
4[Option ID=11212]

Sl. No.4
QBID:1007179




Match List T with List IT :

List I List IT
(word) (synonym)
(A) accolades (I} show
(B) desultory (IIY honour
(C) evince (ITII) =uess
(D) surmise (IV) aimless

Choose the correct answer from the options given below :

(1) (A)-(TV). (B)-(I11). (C)y-(II). (Dy-(I)
(2) (A)-(I). (B)(II). (C)-(III). (D)-(IV)
(3) (A)-(II). (B)-(IV). (C)-(I). (D)-(I1I)
(4) (A)-(ITII). (B)-(I). (C)-(IV). (D)-(II)

1) 1
(2) 2
(3) 3
(4) 4

oo -

= 71 A o o # ; uF sqfuEe (Assertion (A) F ®9 H fafga 2 A THT IHE + F10 (Reasons (R)
=Y

=Y
HATTHA (A) ‘gE =eId1 7 | W G99 B H a2
=+ (R) HET FEHE I ° R O A 2 2

5 i e e TR o B &
IUCE FYA & AEF 5, A 50 0 [GFFed 0 ° JEd 39T S & 991 il

(1)  (A) 37 (R) oA 78 # 3% (R), (A) Fi T8 =aw=n 2
@ (A FR B IA T E, A (R), (A) FFH =men w2
(3) (A TH 2, =i (R) 981 75 7
@ (AT, A9 (R) T2
1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=11213]
2[Option ID=11214]




3[Option ID=11215]
4[Option ID=11216]

Sl. No.5
QBID:1007180

Pick out the correctly spelt word.

(1) twelth (2) twelfthe
(3} twelfth {(4) towelfth
(1) 1
(2) 2
(3) 3
4) 4
-1 % =2 F F-11 e i
=11 11
(A) =19 @O A==
B) =% an 4 55 w9 5 o (ID) WoFr
(C) TSEFmadgmaw (D) #r=
4= fou U fFFeT O O OE I F =999 FiE

1 (A)-D. B)-ID. (C)-AII). (D)-IV)
@) (A)-OV). (B)-(III). (C)-(ID). (D)-(I)
(3) (A)-(IID), (B)-(I). (C)-(ID. (D)-(IV)
(4) (A)-(IID). (B)-(I). (C)-(IV), (D)-(II)

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=11217]
2[Option ID=11218]

3[Option ID=11219]
4[Option ID=11220]

Sl. No.6
QBID:1007181

“The peace talks between the Russia and Ukraine ended 1n a stalemate.”

From the following options pick the correct svnonvm of the word in 1talics.
(1) Agreement (2y  Dilemma

(3) Impasse (4) Disagreement




(1) 1
(2) 2
3) 3
(4) 4

i ™ e 5 "
TAHEAMEd § 18000 e = J9 —;'r

(&)
(B)
(C)
(D)

(E)

T WY, FORI TE |
FrF FH W 2|
v, a9 Fal T A7

3 T 9 UF TG T 2

4= fou U e § 9 "E 39 1 =994 A

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

(A), (B) 31 (C)
(B). (C) 37 (D)
(B). (C) i (E)
(B). (D) =17 (E)

1[Option ID=11221]
2[Option ID=11222]
3[Option ID=11223]
4[Option ID=11224]

Sl. No.7

QBID:1007182

Identify the correct direct speech of the following sentence.

Arshil said that he was very busy then.

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Arshil said. “He 1s very busy now.”
Arshil told. “T am very busy now."”
Arshil said. “You are very busy now.”

Arshil said. “I am very busy now.”




EIERAR e R A

FoA 1: Taom 19§ fd=s @ o oes 381 9t 2

FoA I1:  SH @S W Fadl &) EE wd g o W v w2
Y FH F A °, 449 50 0 el J 9 g9y 399 39 B =95 A

(1)  Fo I3 I oF =8 =
(2) = [ & I o 7o 2
(3) Fu4 [ T2 7, oA 99 11 7eq 2

(4) =¥ 17 2, =i Fo [ T8 2

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11225]
2[Option ID=11226]
3[Option ID=11227]
4[Option ID=11228]

Sl. No.8
QBID:1007183

Which of the following 1z a one-word substitute for ‘a person who 1s unsure about God's
existence’?

(1) Renegade

(2) Atheist

(3) Inrreligious

(4) Agnostic

(1) 1
(2) 2
(3) 3
(4) 4




FA 1: T F AW et w1 9Y 2 - -3 | gH A0 % g WH 9|

FA I1:  Tuifa FEiEty =+ 95 AfGs F8 F u=Gs | med 9 29 #5595 59 Fw2d 2
IWIE FHA F AH 5, 4" 5 T GEen 0 9 geh g8 39 0 =994 Hie

(1) = L&A Mz o 2

(2) w3 IS w50 2

(3) FUH I&E 2, | 9 I 93

(4)  Fu [ 95 2, A4 524 119 7

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11229]
2[Option ID=11230]
3[Option ID=11231]
4[Option ID=11232]

SI. No.9
QBID:1007184

Choose the correct passive volce of the following sentence.

I was waiting for the minister.

(1) The minister was being waited for by me.
(2) The minister was waited by me.
(3) The minister was waiting for me,
(4) The minister had been waiting.
(1) 1
(2) 2
3) 3
(4) 4




Fefeaa 8 9 %1 = % Tume o 27

(A T
(B) A
(C) v
D) =
(E) =amm
I fom o ferel # WA I F = A

(1)  F== (A), (B) 7R (C)
(2)  #ad (B), (C) 31 (D)
(3) A« (B). (D) w1 (E)
4  Fad (C). (D) 3N (B)

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11233]
2[Option ID=11234]

3[Option ID=11235]
4[Option ID=11236]

Sl. No.10
QBID:1007185

Fill up the blank with the correct form of verb.

Neither food nor water available there.
(1) were

(2) will not be

(3 was

(4) have being

(1) 1
(2) 2
(3) 3
(4) 4




T=tetiga @ i 9 fawiians e 379 g 2 7
(A)  EeE-Trariem

B) AT

(C)  THR-TTsR

D) =E-¥Eh

(E) =R =i

/= Tou U e B ° HE I =9 A
() =4 (4), (B) 37 (C)
(2)  #ad (B), (C) 3 (D)
(3)  #= (B). (D) 31 (E)
@)  Fa (C). (D) 3% (E)

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=11237]
2[Option ID=11238]

3[Option ID=11239]
4[Option ID=11240]

Sl. No.11
QBID:1007186

The notification declaring the minority communities / groups 1s done by :

(1) The Parliament

{(2) The State Governments

(3) The Central Government

(4) Concurrently by State and Central Governments
(1) 1
(2) 2

(3) 3
(4) 4




(1) =9

(2)  T=E =

(3)  HoE WEN

(4) g IR TS TEE g WYY
(1)
(2)

(3)
(4)

A W N =

1[Option ID=11241]
2[Option ID=11242]
3[Option ID=11243]
4[Option ID=11244]

Sl. No.12
QBID:1007187

The first image of a black hole captured by Event Horizon Telezcope (ETH) has been named
as:
(1) Stephen Hawking BH*AB (2) SYr*A
(3)  Messier 87 (4) Eienstien Galaxy BH*88
(1)
(2)

(3)
(4)

T2 wfoT oo (ETH) gr1 Tt Fon-faan (soi 2ie) & di 1o uge wfdfers 1 @1 9m 27

A W N =

(1) =194 =171 BH*AB (2) SYr*A
(3)  wHfg=m 87 (4) =M Tewd BH*S8
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11245]
2[Option ID=11246]
3[Option ID=11247]
4[Option ID=11248]

Sl. No.13
QBID:1007188

The dance form which uses Jayadeva's Gita Govinda in an extensive manner 1s called :

(1) Kuchipudi (2) Chau
(3)  Manipun (4) Odissi




(1) 1
(2) 2
3) 3
(4) 4

THCa | M-TTiEs i SAE @ ° ST A JTel T2 —hell 1 = T A

(1)  prags (2) ==
(3)  wforgd (4) AifsH

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11249]
2[Option ID=11250]

3[Option ID=11251]
4[Option ID=11252]

Sl. No.14
QBID:1007189

The celebration of National Press Day on November 16 1in India was started by :

(1) Press Council of India

) Ministry of Information and Broadcasting
(3) United Nations

(4) National Press Club

(1) 1
(2) 2
3) 3
4) 4

16 T 1 WP v foam % w0 8 5 f weea e i efr?
(1)  ardE o9 T

(2) T AR TE FAeE

(3)  =EH U
(4) T tm T

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11253]
2[Option ID=11254]

3[Option ID=11255]
4[Option ID=11256]




Sl. No.15
QBID:1007190

Shyam Benegal's Committee was set up in 2016 for :

(1) clearing the backlog of films for certification
(@) regulating the adult films
(3 develop a strategv for promotion of children's films

(4) laying down rules for film certification

(1) 1
(2) 2
(3) 3
(4) 4

2016 § 7= S-S Hintg T5E o s=E 7E i ?

(1) oA & fofe 95el | == §3 THeR1 F1 W00 FE FEH F
(2) = (Ferl # EEEma FE=0

(3)  wTe-TheHl =i Ticaied 0 o Tore WG faEa =40

(4)  TFer—vwamwE % forn FHam s

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11257]
2[Option ID=11258]

3[Option ID=11259]
4[Option ID=11260]

Sl. No.16
QBID:1007191

If South - East becomes North - West then what will South - West become?

(1) North - West (2 South
(3) North (4) North - East
(1) 1
(2) 2
(3) 3
(4) 4
afz Zfem-d sT-ufraw & 5= At gfem-utras F= Em
(1) Io-ufvan (2) i
(3) =W 4 IR-H

(1) 1




(2) 2
3) 3
(4) 4
1[Option ID=11261]
2[Option ID=11262]

3[Option ID=11263]
4[Option ID=11264]

Sl. No.17
QBID:1007192

In the guestion below statement and assumptions are given. Consider the statement and
choose the correct option from the following on the basis of the assumptions.
Statement :

Area welfare soclety requested the local administration to allow them for converting vacant

land into vehicle parking area at their own cost.

Assumptions :
(1) The local authorities shall be happy to give permission.
(11) The welfare society shall be able to collect funds to convert the land into vehicle

parking area.
(1) Only (1) 1s implicit
(2) Only (1) 1s implicit
(3) Both (1) and (1) are 1mplicit
(4) Neither (1) nor (11) 1s 1imphicit

(1) 1
(2) 2
3) 3
4) 4




Hre fou o wya v Ao SR gd gt & w8 3| qd-uwmna & Sun W awed W gew i ek e
Tou U fawei § o wEl f9wen w1 9= il

T

ufi debE diEsd 3 wEE weeE 8 e e fE 5% e wE W uw wrefl sl #omisa fi
TR & S S AR 4 S|

7E -gRo

1) = sl AEta s aEe =)

(i) @At A F ME - &9 gge o IR BEEdl g9 -TuE e 3 gam =

(1) A= (i) Il 2

(2)  ae (i) T B

(3)  TH (1) 3R (i) = dea A

(4) A (1) AR (i) 7w Bea B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=11265]
2[Option ID=11266]
3[Option ID=11267]
4[Option ID=11268]

Sl. No.18
QBID:1007193

Question below consists of a statement and two arguments. Decide which argument 1= strong
and which 1s a weak argument.

Statement :

Should ban on hunting of tigers 1n forests be lifted?

Arguments :

Yes, the ban 1s not effective as tigers are still being killed.

No. the tigers will start roaming 1n the city.

(1) Only (1) 1s strong argument.

(2) Only (1) 15 strong argument.

(3) Neither (1) nor (11) are strong arguments.

(4) Both (1) and (1) are strong arguments.




(1)
(2)
(3)
(4)

Fr fora wea F v T R o1 7| ol il w9 vee 2 9 B w e B e

A W N =

E s
F1 G941 H STH % R R Sideed 521 i6F1 SE1 =iy ¢
GETE

(i)  ®, glaseg THEER] TE & F9ies e s o 891w w )
(i) 7, =" e T g I W |

(1)  =ad (i) 79 a6 =l

(2)  ad (i) e a% 2

(3) A (1) AT E (1) T T 2

(4)  TEl (1) JA (1) yEe 7% 7

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11269]
2[Option ID=11270]

3[Option ID=11271]
4[Option ID=11272]

Sl. No.19
QBID:1007194

Select a switable figure from the answer.

Figures that would replace the question mark (7).

Problem Figures : Answer Figures :
(A) (B) (C) (D) (1) (2) (3) (4)
(1) 1 @ 2
(3) 3 (4) 4
(1) 1

(2) 2




(3) 3

4) 4

IT-SATFHTA § | UF 3f=q AHA F GG Hifw A geFa=E = (7) 7w o 995

T — ST s - st

(A) (B) (C) (D) (1) (2) (3) (4}

(1) 1 () 2

(3) 3 4y 4
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=11273]
2[Option ID=11274]
3[Option ID=11275]
4[Option ID=11276]

Sl. No.20
QBID:1007195

Pointing towards Marv. John said ‘Only daughter of Father-in-law of her brother’'s mother 1s
my wife. How 1s John related to Mary?

(1) Brother (2) Uncle

(3) Father (4) Data Insufficient

1) 1
(2) 2
3) 3
(4) 4

T I AR T Fd 7Y T e, | IHS WIS i 01 F THE I UHAE O 5 9l 2| S A RG H
sy 27

(1) (2) =wE

3y fam (4) T A B

(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=11277]
2[Option ID=11278]




3[Option ID=11279]
4[Option ID=11280]

Sl. No.21
QBID:1007196

A shop stores x kg of rice. The first customer buys half this amount plus half a kg of rice. The
second customer buys half the remaining amount plus half a kg of rice. Then the third
customer also buvs half the remaining amount plus half a kg of rice. Thereafter. no rice 1s left

in the shop. Which of the following best describes the value of x?

(1) 2<x<6H (2) bH=x=<8
(3) D<x<12 4) 11<x<14

(1)
(2)
(3)
(4)

A W N =

T T H =Ee 1 x R SR R | UEC WER $H OAE1 1 ST a1 S e i w7 gE
e S T AT H G 991 S R e SR wdear 2| den o ot s gt A e aen
e T wrae At @iiea 21 5 yvEd oFE 8 3w Wi =Ee T8 s=ar ) = § xw e w9 wed gd
afefa = 87

(1) 2<x <6 (2) bH=x<8
(3) O0<x=12 4y 11=x<14
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=11281]
2[Option ID=11282]
3[Option ID=11283]
4[Option ID=11284]

Sl. No.22
QBID:1007197

There are two circles of different radius such that radius of the smaller circle 1s two-fifth that
of the larger circle. A square whose area equals 5184 sq cm has 1ts side as thrice the radius of

the larger circle. What 1s the circumference of the smaller cirele?

(1) 65.25 cm (2y 60.34cm
(3) 49 .34 cm (4) 5H4.23 em
(1) 1

(2) 2




(3) 3
(4) 4

fir Bl T @ 39 % O g9 F Bem wS gW A Bew W 2 A v 2 o o e d
a2
5184 = @eft 2 i o w13 g i Brswn F fF T 21 3 g9 = afem = 2

(1)  65.25 @t (2)  60.34 gt
(3) 49.34 o (4) 54.23 gt

1)1
(2) 2
3) 3
4) 4
1[Option ID=11285]
2[Option ID=11286]

3[Option ID=11287]
4[Option ID=11288]

Sl. No.23
QBID:1007198

Ramesh purchased a house worth Rs. 10.00.000 and Amrita purchased a car worth Rs.
16.00.000. The value of house every vear Increases by 20% of the previous value and the value
of car depreciates every vear by 25%. What 1s the difference between the price of house and
car after 3 yvears?

(1) 10.63.000 (2) 10.53.000
(3) 10.43.000 (4) 11.53.000

(1)
(2)
(3)
(4)

A W N =

T 4 ®. 10.00.000 F1 TH W GG T4 a1 A . 16.00.000 Fi vH FW TG geiw a9 W A i
fomet ad F1 Fma w1 20% "gdt 2 31w F Faa fuad ad f Fma w1 25% gd@t 21 d7 oad 9 w2
T FR il FrHA] FT A A7

(1) 10.63.000 (2) 10.53.000

(3)  10.43.000 (49 11.53.000

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11289]
2[Option ID=11290]

3[Option ID=11291]
4[Option ID=11292]

Sl. No.24
QBID:1007199




Vivek had % 23.000. He invested some amount in scheme A at SI at 20% and the remainming
amount in scheme B at CI at 10%. If Vivek got the same amount from both of them at the end
of one year, how much (in %) did he invest in scheme B?

(1) %, 12.000 (2) =. 13.000
(3) %, 11.800 (4) = 12.500

(1) 1
(2) 2
3) 3
(4) 4

fad= & am % 23.000 3| 399 F2 Ul afi"is A § 20% @UET S W oquT 99 i s B A
10% =dlg = W Fem T Al 9+ F1 oF 99 o1 5F1 JieEeT & 9aF TR e, 35 atEse B
# fohcedt wifer =1 T T ?

(1) %. 12,000 (2) %.13.000
(3) % 11.800 (4) % 12.500

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11293]
2[Option ID=11294]

3[Option ID=11295]
4[Option ID=11296]

Sl. No.25
QBID:1007200

Peter marks up all Jeans in his shop 20% higher. He gave 25% discount on 2/5™ of the total
Jeans and 12% discount on 1/4% of the total Jeans. If Peter gets an overall profit of 2.3%. then
what percentage of discount should be given by Peter to customers on the remaining Jeans?
(1) 10% 2 2%

(3) 3% (4 5%
(1) 1
(2) 2

(3) 3
(4) 4

tﬁafﬂﬁwﬁmﬁﬁﬂ?ﬁWED%mﬁﬁﬁm%lmgﬂGﬂm%35%?25%@3%

0
Wdﬂm%%ﬁﬂmm 12% =it F2 & afg dex F F a9 2.3% W BT 2| 99 AT ST T AEH Bl
e wfama i g2 &t S =fen ?

(1) 10% 2y 2%
(3) 3% (40 5%




(1)
(2)
(3)
(4)

A W N =

1[Option ID=11297]
2[Option ID=11298]
3[Option ID=11299]
4[Option ID=11300]

Sl. No.26
QBID:1019001

The study of Science of Man and his Works 1s studied in

(1) History
(2) Anthropology
(3) Sociology
(4) Psychology
(1) 1
(2) 2
(3) 3
(4) 4

AT 3R 38F F1AT F AT F 3ewd Fw AT F P S €0
(1) sfoer

(2) HATAGATET
(3) AT oTET
(4) AAITaAT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12501]
2[Option ID=12502]
3[Option ID=12503]
4[Option ID=12504]

Sl. No.27
QBID:1019002

The social process through which children develop an awareness of social norms and
values and achieve a distinct sense of self 1s known as

(1 Education
(2) Formal Education
(3) Socialization
(4) School Education
1)1
(2) 2

(3) 3




(4) 4

AT . [SHs Aregd ¥ S0 |Aes @aAr 3R Jear & ufa
SARTESRAT & [Thfag =T ¢ 3K & & v Afdse aaar =1 Gwfag
T L TAH Y FAT FEAAT & 2

(1) fare

(2) fro=iyer e

3) HHTSATRIOT

@ e R

(1)
(2)
(3)
(4)

A W N =

1[Option ID=12505]
2[Option ID=12506]
3[Option ID=12507]
4[Option ID=12508]

Sl. No.28
QBID:1019003

The social honour or prestige accorded to a person or a particular group by other
members of society 1s known as

(1) Stigma
(2) Status
(3) Status set
(4) Pattern behaviour
1) 1
(2) 2
3) 3
(4) 4

A & 3 HeHdl ani fonelr =afda ar fafie v &t ug= fFe =
arel ATAITSE TFA 3R Sfaser &t & FEd § 2

(1) EIES

@ yferser ()

@) Sfcissl g (FeTH HT)

(4) e cadeR

(1) 1

(2) 2

(3) 3
(4) 4




1[Option ID=12509]
2[Option ID=12510]
3[Option ID=12511]
4[Option ID=12512]

Sl. No.29
QBID:1019004

From the following who was the founder of Psychoanalysis?

(1) Herbert Mead
(2) Charles Cooley
(3) Sigmund Freud
(4) Karl Marx

1) 1

(2) 2

3) 3

(4) 4

fFe=fof@a & @ FiF #aiEwNT F J695 92
(1) T4t e

(2) T T

(3) s wias

(4) Frel ATFE

(1)
(2)
(3)
(4)

A W N =

1[Option ID=12513]
2[Option ID=12514]
3[Option ID=12515]
4[Option ID=12516]

SI. No.30
QBID:1019005

Who said that self 1s a social self which requires a sociological perspective if we are to
understand how self emerges and develops?

(1) Sigmund Freud
(2) George Herbert Mead
(3) Jean Piaget
(4) Lev Vygotsky
(1) 1
(2) 2
(3) 3
(4) 4




g g @er o T 3cH. areiee-3ney & oas o gareens T aftee T
&7 3TETEar &Il & TE AT § F A F9 3cuer 3R Refa dar
&7

(1) e ds WS

(2) A=l goc Hig

(3) Far s

(4) ICERCIERIRSED)

1) 1

(2) 2

(3) 3
(4) 4

rJJ

1[Option ID=12517]
2[Option ID=12518]
3[Option ID=12519]
4[Option ID=12520]

Sl. No.31
QBID:1019006

The process of localization of tradition or reduction to less systematic and less
reflective dimensions 1s referred to as

(1) Umiversalization
(2) Parochialization
(3) Globalization
(4) Sanskntization

(1) 1

(2) 2

(3) 3

4) 4

qUFETT F TATHIHRIOT Fr URaT I7 FH Iateud AR s Regaeie
ATIATAT T 9fFaT FF FAT FEa ¢ 2

(D) g AT

(2) TahrofteTor

(3) CECICTaY)

(4) e ATEoT

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=12521]
2[Option ID=12522]
3[Option ID=12523]
4[Option ID=12524]

Sl. No.32
QBID:1019007

Which of the following approaches gives more importance to the maintenance of order
in society?

(1) Functionalism
(2) Conflict Theory
(3 Interactiomism
(4) Positivism

1) 1

(2) 2

3) 3

(4) 4

TToT@a # ¥ Fi9-97T 3909TH §ATT H SI98UT 94910 @A FHF JTOF
Hgced ST £ 7

(1 JHRIETE

(2) oy T faeia

(3) A=A RIS

(4) R [ EIr

(1)
(2)
(3)
(4)

A W N =

1[Option ID=12525]
2[Option ID=12526]
3[Option ID=12527]
4[Option ID=12528]

Sl. No.33
QBID:1019008

The Pre-Natal Diagnostic Techniques Act was passed in the year

(1) 2004
(2) 1994
(3) 1984
(4) 2000

(1) 1

(2) 2

(3) 3

(4) 4




THT qa-Agied dheihl IR F hg a¥ & aiia fRar = o 2

(1) 2004
(2) 1994
(3) 1984
(4) 2000

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=12529]
2[Option ID=12530]
3[Option ID=12531]
4[Option ID=12532]

Sl. No.34
QBID:1019009

According to Durkheim, excessive regulation may result in type of
suicide.
(1) Egoistic
(2) Altruistic
(3) Anomic
(4) Fatalistic
(1) 1
(2) 2
(3) 3
(4) 4
qEEA ¥ FJER. Feats Rfaraa F afomasess TR H
HTeHETT BT & |

(1) FEaTer
) RfreaTdr
(3) HafaATAT
(4) NETETET
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12533]
2[Option ID=12534]

3[Option ID=12535]
4[Option ID=12536]

Sl. No.35
QBID:1019010




An economic boom, according to Durkhemm, might result in suicides.

(1) Egoistic
(2) Altruistic
(3) Anomic
(4) Fatalistic
(1) 1
(2) 2
(3) 3
(4) 4
qERA F FER. A I F IRomHEwT TR FT
HTcHHT & Tl g |
(1) Hgarer
(2) Rigaarer
(3) syfaa=a
(4) AETETET
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12537]
2[Option ID=12538]
3[Option ID=12539]
4[Option ID=12540]

Sl. No.36

QBID:1019011

According to Comte, during the . thought and explanation developed
based on science and empirical experimentation.

(1)
(2)
(3)
(4)
(1)
(2)
(3)
(4)

A W N =

Theological stage
Metaphysical stage
Positive stage

Dynamic stage




am%asaﬂw.

& clva. TR 3 Tuséietor. s 3l

AT AT & R W Fwfaa gia &

(1)
(2)
(3)
4)

(1)
(2)
(3)
(4)

A W N =

iR 3raeer
difcaeh 3faEar
HbhHIcHD HIET
afaefer sraer

1[Option ID=12541]
2[Option ID=12542]
3[Option ID=12543]
4[Option ID=12544]

Sl. No.37

QBID:1019012

““The Protestant Ethic and the Spirit of Capitalism’” 1s the major work of

(1)
(2)
(3)
(4)
1) 1
(2) 2
3) 3
4) 4

Auguste Comte
Max Weber
Emile Durkheim

Herbert Spencer

“fg diewée o s g RaRie 3w sfefosa” & s s #ia ¢ 2

(1)

(1)
(2)
(3)
(4)

A W N =

3ITET FIFC
A% AN
SHTSS gEIsH

gdc TUE

1[Option ID=12545]
2[Option ID=12546]
3[Option ID=12547]
4[Option ID=12548]




Sl. No.38
QBID:1019013

The 1deas blended mto the theory of social evolution are based on the key concept of

A Natural Selection/Survival of the fittest
B. The inherent instability of all social systems
(1) Only A is correct
(2) Only B is correct
(3) Both A and B are correct
(4) Both A and B are incorrect
1)1
(2) 2
3) 3
(4) 4

A Sefas & Mga # AT fGur, e gq@ sEuRer @ amaid
g7

UIiceh TAA/AETTH H ScaRsitadr
B. wefr mrATTSres gonferat $r safafga sfErar

M hael AWE &
@) Fad BUET ¥
(3) A 3R B wér §
“) A 3R B A era §

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=12549]
2[Option ID=12550]

3[Option ID=12551]
4[Option ID=12552]

Sl. No.39
QBID:1019014

For Durkheim, 1s the complex division of labour that underpins the
mdustrial economies of modern societies where everyone 1s interdependent.
(1) Organic Solidarity
(2) Mechanical Solidarity
(3) Integrated Solidarity
(4) Individualised Solidarity
(1) 1
(2) 2

(3) 3




(4) 4
qEEA F AR, HH F Ig Afed [T 8. S 3nfas A=t
$r AT srdcTarar FT LW Aar § F@ @ vH gE W ET ¢
(1) WIS THTcHFAT

(2) AT+ TFHIcHFAT

3) THIFpd THIcHS
(4) SUTFdPd UHTeHSAT

1)1
(2) 2
3) 3
(4) 4
1[Option ID=12553]
2[Option ID=12554]

3[Option ID=12555]
4[Option ID=12556]

SI. No.40
QBID:1019015

Match List I with List 11

List I List I1
A, Karl Marx L Mind, Self and Society
B.  Emile Durkheim II. Economy and Society
C. G.H.Mead III. The Division of Labour in Society
D. Max Weber IV. Commumst Mamfesto

Choose the correct answer from the options given below :

(1) A-IIL, B-IL, C-1V, D-I
2) A-L, B-II, C-1II, D-IV
(3) A-IV, B-IIL, C-1, D-TI
(4) A-IV, B-IIL, C-1II, D-1

(1) 1

(2) 2

(3) 3

(4) 4




aﬁlﬁwuﬁﬂaﬂmﬂﬂﬁv:

T 1 Tdr 10

ol ATFY I H 3eH 3R AT
SHS GEsA I 3rdegaer AR A
SrTaAE . AT H 7 & FeraaT
Ao I IV. FFgAee AfAkeer

O 0 ®E &

A feT 1T Aeedl # ¥ T 3cal T IId HifaAT

(1) A-IIT. B-1II. C-IV. D-I
(2) A-IL B-II, C-III. D-IV
(3) A-IV. B-III. C-1. D-II
(4) A-IV. B-III. C-1I1. D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12557]
2[Option ID=12558]
3[Option ID=12559]
4[Option ID=12560]

Sl. No.41
QBID:1019016

The theory of social change as advocated by Spencer traces the change from
to industrial society.

(1 Hunting — gathering
(2) Military
(3) Ancient society
(4) Capitalism
1)1
(2) 2
3) 3

(4) 4




T @ gfauifea arafss aRada & e & ¥ il
TATS H Iade @ g&gd R amar g

(1)
(2)
(3)
(4)
(1) 1
(@) 2

(3) 3
(4) 4

TP - gargor
dfas
Ui Tt

i

o,

1[Option ID=12561]
2[Option ID=12562]
3[Option ID=12563]
4[Option ID=12564]

Sl. No.42

QBID:1019017

In Mead’s theory of development of the self, the first stage has been referred to as :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
3) 3
(4) 4

HcH

The Game stage
The Play stage
The Nascent stage

The Primary stage

& T & A3 & BT & IHFER IIF7 WOT H fF 7 F wefa

raramar g

(1)

1) 1
(2) 2
3) 3
(4) 4

el =TT
Tol TIOT
HRTAFH TOT
greffdes aqoT




1[Option ID=12565]
2[Option ID=12566]
3[Option ID=12567]
4[Option ID=12568]

Sl. No.43
QBID:1019018

The process by which an outsider, immigrant or subordinate group, becomes
mdistinguishably imtegrated into the dominant host society 1s referred to as

(1) Accommodation
(2) Assimilation
(3) Competition
(4) Integration

(1) 1

(2) 2

3) 3

(4) 4

ag 9ishaT TSTHeh CaRT Teh dTgl. 3vardl AT efiey WAg. Asldl AT H
HUACT FT H UHIHd & ST ¢. Pl FAT Fgd 8 ?

(1) AT

(2) HTHATATSIOT

(3) wfereer

(4) TehTehUT

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12569]
2[Option ID=12570]
3[Option ID=12571]
4[Option ID=12572]

Sl. No.44
QBID:1019019

According to Tonnies, Gesellschaft refers to

(1) small, rural, tightly knit communities
(2) assoclational, impersonal, industnal society
(3) kin group
(4) household
1) 1
(2) 2
(3) 3
(4) 4




Ffafaa # ¥ Fig-ur Fua Afsar F1 g8 Tawragis ©
(1) HfZar wfas IRaEds 1 0F TeE §

) Hifsar o g U F

(3) Afzar gamasrr ¢

) Hifsar gepfa FF wAfad Far &

(1)
(2)
(3)
(4)

A W N =

1[Option ID=12573]
2[Option ID=12574]
3[Option ID=12575]
4[Option ID=12576]

Sl. No.45
QBID:1019020

The concept of cultural lag was given by

(1 Ogburn
(2) Redfield
(3) Tylor
(4) Morgan

1) 1

(2) 2

(3) 3

(4) 4

HiERias fqoeaa 1 3=aunon e g5ga #1412
(1) Eiee

(2) =fes
(3) ST
(4) AT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12577]
2[Option ID=12578]
3[Option ID=12579]
4[Option ID=12580]

Sl. No.46
QBID:1019021




Who observed that, “the culture of a society 1s the way of life of its members : the
collection of ideas and habits which they learn, share and transmit from generation to
generation” 7

(1) Ralph Linton
(2) Max Weber
(3) Emile Durkheim
(4) Clyde Kluckhohn
(1) 1
(2) 2
(3) 3
(4) 4

ferael 3raciieher foham o1 foh. “Teh HATST HI &R 38H HCEl & Silded &l
a0 ¢ TaERT 3R el @ TAeT ¢ S § W@ & 3@ET ad ¢ AR
drér ax 9T 3T JERd A ¢ 2

(1) Tew foiea

(2) Heg a=

(3) SASS gEsA
(4) FAIZSS Folhald
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=12581]
2[Option ID=12582]
3[Option ID=12583]
4[Option ID=12584]

Sl. No.47
QBID:1019022

An unilineal kin group, claiming descent from a common ancestor, often represented by
a totem 1s called

(1) Extended family
(2) Clan
(3) Neighbourhood
(4) Cognate

1) 1

(2) 2

3) 3

(4) 4




UH-AET IR HHE. AT U HATA/HET AT § 2T &M el Har g. I
forge ufafafaa eiee ganT fohar s &

(1) forga aRar

(2) FHeFT (Follel)
wd o
(3) TSIy
4 ‘ e
(4) ATGEY (HIITAT)
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=12585]
2[Option ID=12586]
3[Option ID=12587]
4[Option ID=12588]

Sl. No.48
QBID:1019023

The classic study, ‘Folkways’ was authored by

(1 Sumner
(2) Marriott
(3) Ogburn
(4) Redfield
(1) 1
(2) 2
(3) 3
(4) 4
FATHF ETTA ‘Blhdsl [hH% GarT for@r amm ar 2
(D) AT

2) Ae
3) 3HTTE
(4) =hes

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=12589]
2[Option ID=12590]




3[Option ID=12591]
4[Option ID=12592]

Sl. No.49
QBID:1019024

Who has argued that, “deviance 1s not a quality of the act a person commits, but rather a
consequence of the application by others of rules and sanctions to an offender 7

(1) Merton
(2) Becker
(3) Lemert
(4) Goffman

(1) 1

(2) 2

3) 3

(4) 4

Tg % e a ¢, fauee, safea garn e s s # aurEedn g
¢ afcs el & v fat st afadat & afy s dnit & s &
qRoma & 2

(1) A
(2) CETy
(3) erara
(4) MR

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12593]
2[Option ID=12594]
3[Option ID=12595]
4[Option ID=12596]

Sl. No.50
QBID:1019025

Identify the one which is NOT an online database.

(1) ERIC
(2) Proquest
(3) Google Scholar
(4) Anomie

(1) 1

(2) 2

(3) 3

(4) 4




i@ # ¥ Hid JTasd 36T J87 82

(1) lureo
(2) ICTp=ct
(3) TR TIol
4) ufaAHSAar
(1) 1
(2) 2
(3) 3
) 4

1[Option ID=12597]
2[Option ID=12598]
3[Option ID=12599]
4[Option ID=12600]

Sl. No.51
QBID:1019026

Given below are two statements :
Statement I :

“*Culture 1s that complex whole which includes knowledge. belief. arts. morals. law,
custom and any other capabilities and habits acquired by man as a member of society.’

Statement II :

Ounly with the help of new technology we can produce culture.

In the light of the above statements. choose the most appropriate answer from the
options given below

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are mcorrect
(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement IT i1s correct
(1) 1
(2) 2
(3) 3

(4) 4




A & Fua Ru aw &

FEA ] :

“HEpfa g Jfce Aar ¢ S 9ae & werg & §9 7 Ad g@nT ured
<11, farara, Fer, Afdsar, RfE, gar 3k 3 gmad 3R e arfae & 17

FeT 11
fod 75 sieaferhr & werwar @ & g7 wwpfa & @A & ' §

IUNFT HUA & 3Telieh A, AT U v fAswedt # § Fa€ I9gFT 3o &
T Ffaw

(h FUa 13 13- w7 &

(2) FY=T 13 1=t Tad §

3) YT 1 ¢ &, AP FUaT N0 &

(4) FYUA 17Ted &, AfheT FUT 1T &

(1)
(2)
(3)
(4)

A W N =

1[Option ID=12601]
2[Option ID=12602]
3[Option ID=12603]
4[Option ID=12604]

Sl. No.52
QBID:1019027

Enlightenment with a combination of seculanzation, rationalization, democratization,
mdividualism and the rise of scientific thinking are charactenstics of

(1) Modernity
(2) Traditionality
(3) Post-Modernity
(4) Pre-Modemnity
1) 1
(2) 2
(3) 3
(4) 4




TAATIETAT. JfFTHT, Fhc Ao, Safadarg & e § varr 3R
dafae Rias &1 3. frgdr fagvarne g 2

(D HTeITAehaT

s |
(2) qIFEIIETAd]
) qeT- Y el
(4) 5rd4-3ﬂ‘§ljmqarl|
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12605]
2[Option ID=12606]
3[Option ID=12607]
4[Option ID=12608]

Sl. No.53
QBID:1019028

Which one of the following is not a part of quantitative data ?

(1) Data on Crime
(2) Data on Suicide
(3) Case study data
(4) Census data

(1) 1

(2) 2

3) 3

4) 4

Arafaf@a & O FI9-°T ATAAIE ARl T ART J8f g 2
(1) 3TURTET & 37Tehs

(2) HTCHEAT & 3h3
3) T T & HHs
(4) SAAINUTAT & 3HTehs

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=12609]
2[Option ID=12610]




3[Option ID=12611]
4[Option ID=12612]

Sl. No.54
QBID:1019029

Which one of the following is not a source of secondary data ?

(1) Census
(2) Data from Crime Bureau
(3) Interview
(4) Voter list
(1) 1
(2) 2
(3) 3
(4) 4

fa=faf@a # & sia-ar gfadas swst & d@a @7 ¢ 2
(1) SAIOTAT
(2) HOTE I A RS

(3) A&
(4) Hcerdr T
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12613]
2[Option ID=12614]
3[Option ID=12615]
4[Option ID=12616]

Sl. No.55
QBID:1019030

The book **Methods in Social Research’™ is written by

(1) Goode and Hatt
(2) Anthony Giddens
(3) Haralambos
(4) T.K. Commen
(1) 1
(2) 2
3) 3
(4) 4




“HYUIH 37 T RO GFAF & aE@F Pl ¢ 2
(1) ?IE"dE? gIc
(2) Te2raAr sy
6 o

4 aF. 30

1) 1
(2) 2
3) 3
4) 4
1[Option ID=12617]
2[Option ID=12618]

3[Option ID=12619]
4[Option ID=12620]

Sl. No.56
QBID:1019031

The Dowry Prohibition Act was introduced in

(0 1961
2) 1963
3) 1968
) 1969

(1) 1

(2) 2

(3) 3

(4) 4

geo vy fafas e a¥ omp fRar @ ar 2
(0 1961
2 1963
3) 1968
(4) 1969

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12621]
2[Option ID=12622]
3[Option ID=12623]
4[Option ID=12624]

Sl. No.57
QBID:1019032




Which among the following 1s a Tribe ?

(1) Teegy
(2) Bihu
(3) Khasi
(4) Onam

(1) 1

(2) 2

3) 3

(4) 4

fAFAT @ # ¥ Hiadr JA=d § 2
(1) =

(2) g

3) T
(4) o

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=12625]
2[Option ID=12626]

3[Option ID=12627]
4[Option ID=12628]

Sl. No.58
QBID:1019033

d M +
3™ Amendment was introduced in the year

(1) 1992
(2) 2002
3) 1982
(4) 1979

(1) 1

(2) 2

(3) 3

(4) 4

73al WiAUeT @eue fRE ¥ o g3 ar 2
(1) 1992

2) 2002
3) 1982
() 1979

(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=12629]
2[Option ID=12630]
3[Option ID=12631]
4[Option ID=12632]

Sl. No.59
QBID:1019034

Community Development Programme was introduced in India in the year
(1) 1959
(2) 1957
(3) 1956
(4) 1952

(1)
(2)
(3)
(4)

ARD H WA fee dwa” | av # ofe] fear o o 2

(1) 1959
(2) 1957

A W N =

~~
W
Nt
A W N =

(4)

1[Option ID=12633]
2[Option ID=12634]
3[Option ID=12635]
4[Option ID=12636]

Sl. No.60
QBID:1019035

LPG in terms of Development 1s

(1) Liberalisation. Privatization. Globalisation
(2) Language Pertinent Groups
(3) Liquified Petroleum Gas
(4) Least Populated Groups
(1) 1
(2) 2
(3) 3
(4) 4




oo & e @ “Ta @t FrFr Y g 0
(1) 3ERIERUT, TASIERIOT. ST
(2) HTST UTHAS THE
3) gfaa aeiferaa 39

(4) frtar 3TaTE T

(1)
(2)
(3)
(4)

A W N =

1[Option ID=12637]
2[Option ID=12638]
3[Option ID=12639]
4[Option ID=12640]

Sl. No.61
QBID:1019036

A research method that aims to gain a close and intimate familiarity with a given area
of study through an intimate mvolvement with people in their natural environment 1s
referred to as

(1) Non-participant observation
(2) Participant observation
(3) Survey method
(4) Content analysis
1) 1
(2) 2
3) 3
(4) 4




& 19§y g D # Fea fifae
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IV. guiog ufEdes (AT g ¥e)
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(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

A-IV, B-III. C-II. D-I
A-TI. B-ITI. C-IV. D-I
A-I B-IL C-III, D-IV
A-TIL B-II. C-I, D-IV

1[Option ID=12641]
2[Option ID=12642]
3[Option ID=12643]
4[Option ID=12644]

Sl. No.62

QBID:1019037

Who among the following is referred to as the ‘Father of the Green Revolution” in India
¥

(1)
(2)
(3)
4

(1) 1
(2) 2
3) 3
4) 4

Norman Borlaug
M.S. Swaminathan
Verghese Kurien
AP.J. Abdul Kalam

TR e o TR saFaas Faraar g ?

(1) 1
(2) 2

ATHT AT
UH.UH.EHASA

o i
|éllat spii<dd

TS, Hegd FolH




(3) 3
(4) 4

1[Option ID=12645]
2[Option ID=12646]
3[Option ID=12647]
4[Option ID=12648]

Sl. No.63
QBID:1019038

In which year was the LPG paradigm introduced in India 7

(1) 1995
(2) 2000
(3) 1998
(4) 1991

(1) 1

(2) 2

(3) 3

4) 4

g # v 9 S ofdas B ad 3y Bar amar ar 2
(1 1995
(2) 2000
(3) 1998
(4) 1991

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12649]
2[Option ID=12650]
3[Option ID=12651]
4[Option ID=12652]

Sl. No.64
QBID:1019039




Given below are two statements :

Statement I :

Sociology as well as Psychology are both social sciences.
Statement 11 :

Compared to Psychology. Sociology is less concerned with the individual. and more
concerned with humans in groups.

In the light of the above statements. choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II 1s true

(1) 1

(2) 2

(3) 3

(4) 4

A 21 Fue fer aw ¢

FYAL :

TATAATET 3R AAaAR. gt & JHrferes e 8 |
FYA :

AAITAT $T JolalT H, TASH A4d ¥ F7 H&od §. 37 §7g 7 7gear
¥ g+ Fe T § |

ITFT FIF F s A AT QU a0 GFedt & & g9 397+ 3ca #+
T ST

(1) FUA [ AT FAFT 1A TEr §

(2) FU7 [ 3R Fu7 I aAT o9 &

3) FUT [ TEr g. Afshed FHUT 130T &

4) FUAT [T ¢, oAfhed FUF [ HET &




(1)
(2)
(3)
(4)

A W N =

1[Option ID=12653]
2[Option ID=12654]
3[Option ID=12655]
4[Option ID=12656]

Sl. No.65

QBID:1019040

Caste Status 15 known as

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

Achieved Status
Ascribed Status
Economic Status
Roval Status

“fa-ufeafa” & Far Fea & 7

(1)

)

(3)
4
(1)
(2)

(3)
(4)

A W N =

Afea wrefa

Uecd (VEhses) uieufa
anfie gfeufa

QT Wit

1[Option ID=12657]
2[Option ID=12658]
3[Option ID=12659]
4[Option ID=12660]

Sl. No.66

QBID:1019041




Which of the following States figured in the category of BIMARU States :

A, Bihar

B. Uttar Pradesh

C. Rajasthan

D. Assam

E. Madhya Pradesh

Choose the correct answer from the options given below :

(1) ABCD only
(2) B CDE only
(3) CDE A only
(4) AECB only

1) 1

(2) 2

3) 3

(4) 4

frfaf@a & @ sia @ s daw s & A & 7= a0 T 2

£ faer

B. 3cal HeTr
= TSIEAr
D. 3raH

E. HET 9eer

A R 7T AFedt # & WE 3o H TIA HITAT ¢
(1) %dd ABCD
(2) Fad BCDE
) Fadd CDEA
(4) Fad AECB

-~
W
Nt
A W N =

(4)

1[Option ID=12661]
2[Option ID=12662]
3[Option ID=12663]
4[Option ID=12664]

Sl. No.67
QBID:1019042




Given below are some of the characteristics of a modern society :

Seculanzation
Rationalization
Democratization
Ascribed Status
Scientific Temper

moOwp

Choose the correct answer from the options given below :

(1 B CDE only
(2) ABCE only
(3) ABCDonly
(4) CDE A only

1)1

(2) 2

3) 3

(4) 4

e & @ syfas g F qur Hla a § 0

A. TATARIENEOT

B. ATTehehIehToT (YT oIS orere)
C. CIETEICTa)

D. Uecd (TEhSes) wieufa
E. CENCCRC )

A few 71T R[epeal # @ TEr 3ca¥ &1 9T HiIlaT

(1) %ael BCDE
2) FaT ABCE
3) dad ABCD
(4) daedl CDEA

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=12665]
2[Option ID=12666]




3[Option ID=12667]
4[Option ID=12668]

Sl. No.68

QBID:1019043

Given below are two statements

Statement [ :

Man 1s social by nature.

Statement 11 :

Society 1s a relation among individuals.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

Both Statement I and Statement 11 are correct
Both Statement I and Statement I are incorrect
Statement [ 15 correct but Statement 11 15 incorrect

Statement I 15 incorrect but Statement 11 15 correct

A @ Fue R v §

FEA] -

ST Ihid ¥ FHANAS § |

FEAI :

TATS fFadl & &9 §6 § |

mm*mﬁ,mmmﬁmﬁﬁmmﬂwmﬂ
TGT HITIT :

(1)
(2)
(3)
(4)

A W N =

FUaT 13K Fu=7 1S T
Fua 13K Fu 1= 70T §
HUA 1TE ¥, AT HUA 117700 &
FYU 13Tdd E, aifehed HUT TS &

1[Option ID=12669]
2[Option ID=12670]




3[Option ID=12671]
4[Option ID=12672]

Sl. No.69
QBID:1019044

Female foeticide means

(1) Death of a girl after birth
(2) Death of a girl in the womb of her mother
(3) Death after marrage
(4) Death after one year
(1) 1
(2) 2
(3) 3
(4) 4

‘el HUT FoAT' H T HY F 2

(1 S & 9RAT el H HA
2) AT A B R FeAT A AT
(3) e wRua g

(4) T a¥ WU Hcg

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12673]
2[Option ID=12674]
3[Option ID=12675]
4[Option ID=12676]

Sl. No.70
QBID:1019045

An absence, breakdown, confusion or conflict in the norms of society 1s known as

(1) Anomie
(2) Deviance
(3) Crime
(4) Pandemic

1)1

(2) 2

3) 3

(4) 4




HATS & HAlIes! H HAEATd, (@S, A, Tl i 41 Ted &
(D U TaATAAT

(2) SaraET=Ta

3) 3TORTeT

(4) HEART
(1)
(2)

(3)
(4)

A W N =

1[Option ID=12677]
2[Option ID=12678]
3[Option ID=12679]
4[Option ID=12680]

Sl. No.71
QBID:1019046

Match List I with List 11

List ListII

A, Cooley L Disenchantment
B. Freud II. Iand ME
C. Mead III.  1d, Ego, Superego
D.  Weber IV. Looking Glass Self
Choose the correct answer from the options given below :

(1) A-IV, B-IIL C-IL D-I

(2) A-IL B-IIL, C-IV, D-I

(3) A-L B-1L, C-III, D-1V

(4) A-IIL B-IL, C-1, D-1V
(1) 1
(2) 2
(3) 3
(4) 4




yﬁl%mﬂﬂﬁuaﬂmﬁﬁv

o N W

co

gar Il
I IERES]
L. e T H
M. $3.3@A. R 30
IV.  EUfOId eafdded (fheT Te o)

A feT 71T Aeedl # T TEr 3cal T IId HifaT

A-IV, B-III. C-II. D-I
A-IL B-IIL C-IV. D-I
A-L B-II. C-TIL. D-IV
A-III. B-IL. C-L. D-IV

(1)
(2)
(3)
(4)
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=12681]
2[Option ID=12682]
3[Option ID=12683]
4[Option ID=12684]

Sl. No.72
QBID:1019047

Match

List T with List I1

List 1
G.S. Ghurye L
A.M. Shah and L.P. 1L
Desai

Veena Das I

McKim Marrott V.

List II

Structure and Cognition : Aspects of Hindu
Caste and Ritual

Caste and Class in India

Division and Hierarchy : An Overview of
Caste 1n Gujarat

Village India : Studies in the Little
Community

Choose the correct answer from the options given below :

(1)
(2)
(3)
4)

1) 1
(2) 2

A-lL B-11, C-111, D-IV
A-IV, B-111, C-11, D-1
A-II, B-1I1, C-1, D-IV
A-L B-1I1, C-1V, D-11




(3) 3
(4) 4

g 1% | F= & e fifae

T

B.  uwHUAE 3 SO
¢S

11

IV.

T
TFR TS HlTeld: HEIFCH 3HTH
feeg Free U3 Rgae

HIEC US Folld 3o 31T

3o Us RhT 3iatey 3%
PIEC Sel I[N

TSI 31 g folea wegfacr

e fGw 717 fasedl 3 § W 3ca} & g DT

C. & e

D. Ay M
(1) AL B-IL C-III, D-IV
) A-IV, B-IIL, C-IL D-I
(3) A-II. B-III. C-1. D-IV
(4) A-L B-III. C-IV. D-II

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12685]
2[Option ID=12686]
3[Option ID=12687]
4[Option ID=12688]

Sl. No.73
QBID:1019048




Match

N w

List I with List I

List I

Andre Beteille L.
M.N. Srinivas I1.
F.G. Bailey I11.
Lows Dumont IV,

List I1

Homo Hierarchicus : The Caste System and its

Imphications

Caste and the Economic Frontier

Religion and Society among the Coorgs of South

India

Caste, Class and Power : Changing Social
Stratification in a Tanjore Village

Choose the correct answer from the options given below :
A-L, B-11, C-1IL, D-1IV
A-IL B-1IIL, C-L, D-1IV

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

A-IV, B-11, C-1, D-II
A-IvV, B-111, C-1L, D-

|
|

aﬁla;wajruasrmmﬁ%@

A

qq;?rl
Hg dds

IL.

II1.

T

gAT I T: ¢ SR [ U 3¢
TFCATRY

FIEC TS & TPl HS el

el 73 WrAmadT wHT § Hed A6
GIEREIER

TS, FITH US Graq: AToiaT Areret
e 3a T 99X Tes

A feT 71T R[eeal # @ TET 3ol &7 IIA HIfAT

(1)
(2)
(3)
(4)
(1) 1
(2) 2

A-L B-IL C-IIL. D-IV
A-IL B-IIL. C-L. D-IV
A-IV. B-II. C-1. D-III
A-IV. B-III, C-II. D-I




(3) 3
(4) 4

1[Option ID=12689]
2[Option ID=12690]
3[Option ID=12691]
4[Option ID=12692]

Sl. No.74
QBID:1019049

Given below are two statements :

Statement [ ;

According to Pareto, there is circulation of elites in society.
Statement II

Circulation occurs because some people were more suited to the maintenance of the
status quo while others coped better during periods of change.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement I1 are incorrect
(3) Statement I 1s correct but Statement 11 1s incorrect
(4) Statement I 1s incorrect but Statement 1T 1s correct
1) 1
(2) 2
(3) 3

(4) 4




= g Fua fer aw §

FYAI :

el F HJOR, AT F FelleAl 1 Thrg IRERA &er & |
FYA :

aierer $r fBufa sca== 2 & FifS $o dbr zafeafa a=e w@a +
fore s 39 O 59 =t & 9fiEaa AT Fehw ww e @
TTHET RaT |

IRFT FI F 3w J A= QT o0 feFedt # @ §9¢ 3997 3cal #
T T

(1) FAT 1 AT FUA IS Tl &
(2) FAF 13T FuA DA 799 &
(3) FAT 1 HET &, At FUF 1T &
(4) FUF [T & Ifehed FUT I HET &
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=12693]
2[Option ID=12694]
3[Option ID=12695]
4[Option ID=12696]

Sl. No.75
QBID:1019050

State or condition of being the same, especially in terms of social status or
legal/political nghts 1s called

(1) Equality
(2) Liberty
(3) Fraternity
(4) Freedom

(1) 1

(2) 2

3) 3

(4) 4




A 2 Fr oufy o ofifeufe. fFow &9 & ganfos feufa ar
it a=ias 3Rt £ e @ T3 Fgaar 2

(1)
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
4) 4

HATAAT

=g (o)

e

THaIdr

1[Option ID=12697]
2[Option ID=12698]
3[Option ID=12699]
4[Option ID=12700]

Sl. No.76
QBID:1019051

Match List I with List I1

List ]
In-Group
Out-Group

Reference Group
Secondary Group

List 11

Any group accepted as a model

A group towards which one has a feeling
of belonging

Group in which contacts are impersonal
Group towards which one has no feeling of
belonging

Choose the correct answer from the options given below :
A-L B-1V, C-II1, D-II
A-IL, B-IV, C-1, D-III
A-IL B-1, C-IIL, D-1IV
A-L B-11, C-1IL, D-1IV

(1
(2)
(3)
4

1) 1
(2) 2
(3) 3
(4) 4




T 1% g1y & D F Fee fifav

LRI T 11

A Hed: HHE L #Alsd ¥ &7 # &R Far @ 75 w6g

B.  a=Ew @y I wg. &ws 9fd cafFa $r 39w &
AT &

C. o wog I g, 5w oo seafaaea &

D fdmwr o IV g Gus gfd afFa & soaga &
AT & A €

e for v Rredt # ¥ WEr 3ca¢ FT 9T FifFT

(1) A-I. B-TV. C-III. D-II
(2) A-IL B-IV. C-1. D-III
(3) A-IL B-I. C-III. D-IV
(4) A-I B-II. C-III. D-IV

1) 1

(2) 2

3) 3

4) 4

1[Option ID=12701]
2[Option ID=12702]
3[Option ID=12703]
4[Option ID=12704]

Sl. No.77
QBID:1019052

Given below are two statements :

Statement [ :

Status 1s that it represents the position of individual in the group.
Statement 11 :

Role 1s the worth of a person as estimated by a group or class of persons.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both Statement I and Statement II are correct
(2) Both Statement I and Statement 11 are incorrect
(3) Statement 1 1s correct but Statement 11 1s incorrect
(4) Statement [ 1s incorrect but Statement 11 1s correct
(1) 1
(2) 2

3) 3




(4) 4

A= @ Fua fgr v §

HIYAI :

gieufa (ew) 38 & o g & Jfed F TR & Iafataeg Fr § |

HIYTII -

Afer. cafea 1 98 wm@ g5 wag @ wfFadt F 99 @ st
CICI

3T FIT F s J A QT v fFedt # @ §9@ 39gFd Scal H
T FIST

(1) FUAT 13T FUF 13 Far &
(2) Fua 1 AT FuF AT 19T &
(3) FAST [TEr g, v FU7 11T &

(4) FUF 1709 g AfFd FUF N TET &

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=12705]
2[Option ID=12706]

3[Option ID=12707]
4[Option ID=12708]

Sl. No.78
QBID:1019053




Given below are two statements :
Statement I -

Culture is the totality of a group’s ways, thoughts and actions duly accepted and
followed by a group of people.

Statement II :
Culture can be acquired through socialization.

In the light of the above statements, choose the most appropriate answer answer from
the options given below :

(1 Both Statement [ and Statement Il are correct
(2) Both Statement T and Statement I1 are incorrect
(3) Statement [ is correct but Statement 11 1s incorrect
(4) Statement 1 is incorrect but Statement II is correct
(1) 1
(2) 2
(3) 3
(4) 4

A= ar Fua fer o §
FIA] :

TFia g & al=. FEnRt @R wEt § g5 & 59 aet & ag aEn
fafeea =R 3R srgavor fRar SmaT €

FHA :

HEFHId FI FASHIOT F ATA ¥ T20T a1 =1 §FhaT € |

3T FI F e H A= o v fFedt # @ g9 39999 3caX #
T4 HIST

(1) FUA 1T Fua 12T TE

(2) FAT [T FU9 1A ToT
(3) FUAA 1 HET &, ket FUF 11T &
(4) FAT 19 & ke FUFT I TET &
(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=12709]
2[Option ID=12710]
3[Option ID=12711]
4[Option ID=12712]

Sl. No.79
QBID:1019054

Given below are two statements :
Statement [ :

A community does not have a name.
Statement 11 :

A community 1s not a legal body.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement I1 are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement II is correct
1)1
(2) 2
3) 3
(4) 4

A & et few o §

FHEA L :

TG HT g AH e ST € |

FYA :

T fafes s a7 ¥ |

SRIFT FYUA & JHeieh A, A T 0 Fevedl # & Hod 39GFA ek A

T HIfST

(0 HU 13 FUaT 11 adr &
(2) FY 13T FUF AT ITed &
(3) FUT [T &, A Fu Lot &
) FUA 17700 ¢, o FUF LTSN &




1[Option ID=12713]
2[Option ID=12714]
3[Option ID=12715]
4[Option ID=12716]

Sl. No.80
QBID:1019055

Given below are two statements :

Statement I -

Social deviance 1s a variation from the norms of society.
Statement 11 :

There is no fixed standard for deviance.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement I1 are mcorrect
(3) Statement I 1s correct but Statement 11 1s incorrect
(4) Statement I 1s incorrect but Statement 11 1s correct
(1) 1
(2) 2
3) 3
(4) 4

A ar Fua v A §

HYAI :

Ao+ SEAIaL §ATT F AGsT ¥ =7 & |
FEAI :

o= ¥ o #iF e aes 78§ |

IWFT FIF F Fes H. A BT 70 FFedt # ¥ 99% 39g+9 3cal F
T FIfFT

(1) FUA 13T Fua 1A TE

(2 FUT 13T FUF NS AT &

(3) FUAT 1TEr & et FUF 17T &

(4) FAF 1350 £ AT FUFT I HET &
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=12717]
2[Option ID=12718]
3[Option ID=12719]
4[Option ID=12720]

Sl. No.81
QBID:1019056

In order to be dominant, a caste should preponderate

A, Numerically
B. Politically

C. Economically
D. Scientifically
E. Culturally

Choose the correct answer from the options given below :

(1) A, B and C only
(2) B, C and D only
(3) D, A and B only
(4) C, D and E only

1)1

(2) 2

3) 3

(4) 4

over the other castes.




TR A ¥ T T Sy gl sfy @ gaer g
R |

Al & F ®T H
B. TSl &7 H
C. s FT
D. dofas s @
E.

wrepf ¥ @

dr TeU 717 SFeal # ¥ UEl 3ca¥ 7 994 AT
(L %ael A.B3HR C

(2) %gel B.CHRI D

(3) %acl D.AN B

(4) 9l C.DARE

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12721]
2[Option ID=12722]
3[Option ID=12723]
4[Option ID=12724]

Sl. No.82
QBID:1019057

Which of the following concepts refer to gender identity ?

A, Masculinity
B. Femininity
C. Machismo
D. Patriarchy
E. Polygamy

Choose the correct answer from the options given below :

(n C. B and D only
(2) A, Cand E only
(3) A, B and C only
(4) E. B and A only

1)1

(2) 2

(3) 3

(4) 4




Trafaf@a & @ sia-dr 3euron Ger-fEaar @ g&6f@a & |

m o 0w =

g feu av fawedt # & @ 3ca 1 g9a HifSw
(1) Fad C,B3R D
(2) Fad A, CHR E
(3) Fad A, B3R C
(4) Fao E.B3IT A

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=12725]
2[Option ID=12726]
3[Option ID=12727]
4[Option ID=12728]

Sl. No.83
QBID:1019058

The basic type of random sample is known as simple random sample.

Al In simple random sampling, each item has an equal chance of being
selected.

It protects against bias in the selection process.
It compromises the reliability of the sample.
It provides a basis on which statistical distribution theory can be applied.

munow

It 1s the other name for purposive sampling.

Choose the correct answer from the options given below :

(1) A, B and C only
(2) A, Cand D only
(3) B, C and D only
(4) A, Band D only

1)1

(2) 2

(3) 3

(4) 4




A YFR F {SH Fos F WURT 37 J5q F & T S S0 ¢ |

A

TR AETeSF Iaadd H. TohF &g F I3 A HI TAR
HHEAT BT € |

g TIS IHHAT H @R F F=aT ¢

g A 1 eFweaar ¥ wEslar :ar g

Ig IMUR 981 FT 3. 57 T wifegha o e o
foFar T Hhat ¥ |

TE 3T A=A FT G/ AH § |

Jrr v v fareTt F @ @ 3caT F T3 fifaw

(1)
(2)
(3)
(4)
(1)
(2)

(3)
(4)

A W N =

Fac A B3R C
9T A.CHR D
Fde B.CHRT D
Faef ABIR D

1[Option ID=12729]
2[Option ID=12730]
3[Option ID=12731]
4[Option ID=12732]

Sl. No.84

QBID:1019059

The Khasis are a matrilineal tribe of India.

MY 0w

The Khasis are inhabitants of the State of Meghalaya.

The Khasis practice polygamy.

The Khasis also constitute a patriarchal society.

Amongst the Khasis, the youngest daughter inherits the ancestral property.
The mother’s brother plays a significant role in the Khasi society.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
1) 1
(2) 2
(3) 3

A, B and C only
B, C and E only
A, D and E only
A, Cand E only




(4) 4

G ARG $T T AGANT T |

Tt AT Tog F e §

@t SEfaaTE FAT H HTET A §

@t RqacaicAs AT # 8ff o W |

Gl St # wad O a8 A 4% dufea e €
TN AT A AT F 7S T IHEH HAS g § |

mg 0B P

A Br a1v BFear & | H@Y 3o 1 9a@e Hifaw

(1 Fad A, B3R C
(2) Fad B.CIHT E
(3) Fad A, D3R E
(4) Fad A, CHRT E

(1)
(2)
(3)
(4)

A W N =

1[Option ID=12733]
2[Option ID=12734]
3[Option ID=12735]
4[Option ID=12736]

Sl. No.85
QBID:1019060

Which of the following options may be associated with modernity 7

Urbanization

Specialized division of labour

Rise of money economy
Dominance of ascribed social status

moOm >

Repressive laws

Choose the correct answer from the options given below :

(1) B, C and E only
(2) A, Band C only
(3) A, B and E only
(4) A, Cand E only

1) 1

(2) 2

3) 3

4) 4




fmafaf@a # & Fla-8 GFea smyfasar & gafta € ¢

MY 0w e

IERIE Tl

o7 F1 ERrdga =

U HATHEEAT (FAT THAAT F S
Yecd AATSF fFufa #1 9=
SHAFNT FelA

A fer aiv Ted # ¥ HEr 3ol #1994 Fif=T

(1)

(1)
(2)
(3)
(4)

A W N =

%def B.CHX E
%del A.B IR C
Faaf A.BIHR E
Fadd ALCHR E

1[Option ID=12737]
2[Option ID=12738]
3[Option ID=12739]
4[Option ID=12740]

Sl. No.86

QBID:1019061

Given below are two statements :

Statement I :

Independent variables are those that cause, influence or affect outcomes.

Statement 1T :

Dependent variables stand between the independent and intervening variables.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1)
(2)
(3)
(4)
(1)
(2)
(3)
(4)

A W N =

Both Statement | and Statement I1 are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect

Statement 1 1s incorrect but Statement I1 15 correct




= ar Fu fer T §

FYI :

TTET W T . A IRUTA FT FROT TAS & 3H IROTH F AT w2
FYA I :

g maT it megedf s F o a aa €

IUFT FUAT F AelF A A= YU a0 FFedt # & ga@ 399+ 3cal H
TIT FTAT -

(1) FUT 1 HT FuT 3T Her &
(2) FUT 1 AT FUA ST TS 2
(3) FAT [TEr §. Afhad FUT 11T &
(4) FAT 17T & A Faa 1 TEr §

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12741]
2[Option ID=12742]

3[Option ID=12743]
4[Option ID=12744]
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Given below are two statements : one 1s labelled as Assertion A and the other 1s labelled
as Reason R

Assertion A :
Control vanables play an active role in quantitative studies.
Reason R :

Control variables are important for the researcher because they potentially influence the
dependent variable.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation of A
(3) A 1s true but R 1s false
(4) A 1s false but R 1s true

(1) 1

(2) 2

(3) 3

(4) 4

A g Fua U aw € - v wf¥wya AF w9 # T § o g5 3us
FNOT RF §T H

HIHAFYAA
feaor =R, AFCAS WeaTa § R ofF e Tae §
FNUT R :

T =, At F T Agccaynr § FOIF ¥ wailed w9 @ wfAg =
I TATEIT FId 2 |

3HIFT FYAT F Holw H AT U a0 SFedl # ¥ HW 39gFd Fea]
T FifFT

(1) A 3T REET T & 3R R AFHr T T §

2) AT REET T ¥ afFa R A Fr T curem AE §

(3) A WET & T REET AL &

(4) ATE 78 € ofFa REE &

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=12745]
2[Option ID=12746]
3[Option ID=12747]
4[Option ID=12748]
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Given below are two statements : one 1s labelled as Assertion A and the other is labelled
as Reason R

Assertion A :

Complete objectivity 1s not possible to be attained in sociological research.
Reason R :

Sociological judgments are subjective, being coloured by actors' own experiences.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation of A
(3) A 1s true but R 1s false
(4) A 1s false but R 1s true

1)1

(2) 2

3) 3

(4) 4




A o Fua fow 9w € - v HiEFAw AF w7 F fET & O g 3uw
FROUT RF §T H

HHFYT A :

TATHAEST oM F qUT TEASST (FeTelld HeATFelder) Tod FIAl T
e |

SNUT R -

TATas A s (Teeffea) e f RiF Fsa Em s =T F
AT SART Fiod Rar S €

IWFT FAAT F HellF H. A U 0 FFedt # § Ta8 39gFd eal &
TIq FIfT

(1) AT REAT T & 3T R AFr T =T &

2) AT R TET & afFa R A FT TEY curET A€ §
(3) A TE § AR RTET LT &

4) AT @ g AT REET &

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=12749]
2[Option ID=12750]

3[Option ID=12751]
4[Option ID=12752]
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Given below are two statements : one 15 labelled as Assertion A and the other 15 labelled
as Reason R

Assertion 4 :
The modernization of Indian tradition did not result in the withering away of caste.
Reason R :

The proliferation of caste associations 1s proof of the continued significance of caste in
modern India.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation of A
(3 A 1s true but R 1s false
(4) A 15 false but R 1s true

1)1

(2) 2

(3) 3

(4) 4

A & Fua fGr aw € - v wfEeua AF w9 A fof@a & o guu 3us
FROT RF & H

HIHFYT A -
AR TFRT F 3R F IRuTAEwT At &for 78 2 9
FRUTR :

S HEl T J61. 3@+ 9Rd # SA1fa F @H{ar Aged 1 9A07 ¢ |

3T FUAT F IeAls H. A BT 0 BFeqt & @ ¥a@ 39gFd Seal
I FifET -

(1) AT RN ®Er & AT R A F wEr cmrEw &

(2) A 3T REEAT GEr & SR R A T WEr cITEAT 9T &

3) A TS § Rt REET &N &

) A e 7T € oifeheT REET &

(1) 1
(2) 2
3) 3
(4) 4




1[Option ID=12753]
2[Option ID=12754]
3[Option ID=12755]
4[Option ID=12756]
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Given below are two statements : one 15 labelled as Assertion A and the other 1s labelled
as Reason R

Assertion A

Caste 1s a closed status group.

Reason R :

The caste system in India 1s based on endogamy.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation of A
(3) A 1s true but R 15 false
(4) A 1s false but R 1s true

(1) 1

(2) 2

3) 3

(4) 4




A & Fua BT AT € U HEEUS A F w7 A Of@T § o g 35w
FNOT RSF §T H

HIHFUA A -
SIS Tk dg wieufd THg (Feies e W) € |
FRT R :

NT H AN s¥a9Edr dafaag 9¢ smeia & |

3RFT HAAT F ek F. A o ov Beredt § & w90 39977 307 #7
T HTST -

(1) AFAR REAT T@Er & 3R R AH T surETr §

2) AR R TEr & afFT R A FT TE e A€ E

(3) ATE ¢ SRt REET AL §

4) AHEr 7 & ofhT REET &

(1)
(2)
(3)
(4)

A W N =

1[Option ID=12757]
2[Option ID=12758]
3[Option ID=12759]
4[Option ID=12760]
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The correct chronological sequence of the following options would be :

T4th Constitutional Amendment Act
National Extension Services
Community Development Programme
Ministry of Community Development

moNwp

Balwant Ra1 Mehta Commuittee

Choose the correct answer from the options given below :

(1) A~Q-D=B~E

(2) C—~D-R-B-X&

(3) E-D-C-B-A

(4) i | T | T
(1) 1

(2) 2




(3) 3
(4) 4

fArfafaa fAseat it T FrelelHpa # sgafeyd v :

A. 74ar d@faue garus wfefEas
B. s farar dare

C. aEes fawm S

D. aHeTas e Ao

E. Foldd T Hgar |&ATT

#Hﬁﬁ?ﬂwﬁﬁﬁﬁziﬁiﬁTmﬁtﬂﬂaaH#ﬁév:

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

nmn:b
mmmm
D='D='D=-rn

-D-
-E-
-C-
-D-

EUUU("‘-

1[Option ID=12761]
2[Option ID=12762]
3[Option ID=12763]
4[Option ID=12764]
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The correct sequence of the stages of history as outlined by Marx would be

Feudalism

Capitalism

Ancient society
Primitive Communism

MU 0w

Socialism

Choose the correct answer from the options given below :

(1) D= —A—H-H
(2) D-C-E-A-8B
3) A-B-C-D-E
() C-A-R-D~E

(1) 1

(2) 2

(3) 3

(4) 4




AT 2@ Sfedt@d sfags & ool & T8 F7 &

Mmoo Wy

HHAAE
i
q{Ia AT

e

R aaare
HATSEE

e Rw v Beedt # @ @Y 3o F1 99 fifew

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=12765]
2[Option ID=12766]
3[Option ID=12767]
4[Option ID=12768]
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The correct sequence of the following steps in inductive research would be :

Al

=

Looking for broad patterns, generalizations or theories from themes or
calegories

Analyzing data to form themes or categories

Posing generalizations and theories from past experiences and literature
Asking open ended questions to participants or recording field notes
Gathering information

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

A-B-C-D-E

E-D-B-A-
D-A-B-C-
B-C-A-D-

rnrnf"\




HTHATHS (33f9ed) FJaue # Ao =xom #1 §2r 7 F31 g 2

Al fowat ar Afvrat & cas deat. gE=isor ar et F s

B. fawat ar Afoar = a3 F AT st FT feewr Far

C. Troer aegerEt AR wifecr & wART A et # gEqT HEr

D. gfaanfirat & Ut TFIETer oA (AT U35 FERTH) IO A7 Fies
Are s F=ar

E. ATAFNT THT FLAT

A TT 717 TFear # ¥ Wl 3ca¥ T 9494 AT

(1) A~B-C-D-FR
) E=D=B=A—C
(3) DoA=BopaR
(4) T
(1) 1
(2) 2
(3) 3
(a) 4

I

£

1[Option ID=12769]
2[Option ID=12770]
3[Option ID=12771]
4[Option ID=12772]
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Arrange the following options chronologically in terms of their location in the vanous
Five Year Plans :

Industrial Development
Green Revolution
20-Point Programme
MGNREGA

Sarva Siksha Abhiyaan

mUN®p

Choose the correct answer from the options given below :
(1) A-B-C-E-D
(2) A-B-C-D-
(3) B-A-C-E-
(4) E-A-B-C-

1) 1

(2) 2

(3) 3

(4) 4

o om




e doadty aseamnat & 39 e & a3ar W Reafefaa Reedt
Frama # caafeyg 1

e e e

B. =T

C. 20 T FEHA

D. HALT (MGNREGA)
E. Td Ren afEae

#Frr Bw v Aweat & ¥ @8 3o} & AT HifFv

(1) A
(2) A —
(3) B
(4 E

1) 1
(2 2
3) 3
(4) 4
1[Option ID=12773]
2[Option ID=12774]

3[Option ID=12775]
4[Option ID=12776]

Sl. No.95
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Who is the author of the book, “*Capital : A Critique of Political Economy™” 7

(1) Max Weber
(2) Karl Marx
(3) Emile Durkheim
(4) Herbert Spencer
(1) 1
(2) 2
(3) 3
(4) 4
& “Hhiued : T BT 36 difafche SHAAT F oaE@F Fid g 2
(1) FFE T
(2) FTel FTFY
3) el gaiEH
@) g

(1) 1




(2) 2
3) 3
(4) 4
1[Option ID=12777]
2[Option ID=12778]

3[Option ID=12779]
4[Option ID=12780]
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Arrange the following books in the chronological sequence of their year of publication :

Primitive Classification

The Division of Labour in Society

The Rules of Sociological Method
Suicide

The Elementary Forms of Religious Life

monNwp

Choose the correct answer from the options given below :

(1) A-B-C-D-B
(2) B<C-A-D-B
(3) C~A&~B-~D~E
(4) B-C-D—A-H

(1) 1

(2) 2

(3) 3

(4) 4




G IR gwcﬁi FT A TFlT & a¥ & T T HToThATT AN
TateIg +Y -

Tfafee Farfaithera

f& Bass 3% = 3= s

& vo@ 3w AREESed #T3
LIESS

& ofoEed orF 3w Renfog asw

s e 4

A T 37T Aepedl § ¥ el 3cad & I3 HiIfaT

(1) A-B-C-D-E
(2) B-C-A-D-E
(3) C-A-B-D-E
(4) B-C-D-A—E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12781]
2[Option ID=12782]
3[Option ID=12783]
4[Option ID=12784]
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Given below are two statements : one 15 labelled as Assertion A and the other 1s labelled
as Reason R

Assertion A :

American society 1s an example of an achievement-based society.
Reason R :

American society 1s based on class differentiation rather than on caste.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A is true but R is false
(4) A is false but R 1s true

(1) 1

(2) 2

3) 3

4) 4

A & Fua U aw § - v WiEEUA AF w9 H Of@d § ar g5 3us
FHUT R+ §T H

FHTHFYA A :

HATET GATT 3T - AT AT FT TH 3SEI0T ¢ |

FROTR :

FATEHT FAT 11T F B W 1 e - smuia @ = ¢ |

3UIFT FUAT F HellF A A U 70 FFedt # ¥ g9 39gFT 3l F

T FIfFT

(1) AT R WY & 3T R A FT wE s ¥

(2) A AT R TEY & T R A T i suTETT A9
(3) AWE § AT REET AET &

3 ATE 7@ § AT REE B

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=12785]
2[Option ID=12786]
3[Option ID=12787]
4[Option ID=12788]
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The emulation of the lifestyle of the twice-born castes, and acceptance of their rites,
beliefs. ideas and values. with the objective of moving up in the social hierarchy is
referred to as

(1) Westernization
(2) Modernization
(3) Brahmamization
(4) Sanskritization

(1) 1

(2) 2

(3) 3

(4) 4

WA ISRhA # AT 93 F 327 ¥ G anfaat #r siaa el #7
FFFOT. AR 3% FERRT, Tt fTamt AR Feat Fr =hgpfa #r sgae |
FAT Fgd & 7

D eI

) amegferhreRor

(3) STERUTHIOT

@ e
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=12789]
2[Option ID=12790]
3[Option ID=12791]
4[Option ID=12792]

Sl. No.99
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The process by which we learn to become members of society, by internalizing the
nomms and values of society, and also by learning to perform our social roles 1s referred
lo as

(n Acculturation
(2) Assimilation
(3) Socialization

(4) Accommodation




(1) 1
(2) 2
3) 3
(4) 4

I¢ 9T, [ §@RT & §A F AWdst T A=al 1 AcHAT 7
FATS F WEET a1l W@ 2. AR 39! Jrfers qfFEwat Fr mr @
g 3TF FAT Fga & 7

(1) TTHER IR0
(<) HTcHITATR 0T
(3) TATTHIOT
(4) gHAA

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12793]
2[Option ID=12794]
3[Option ID=12795]
4[Option ID=12796]

Sl. No.100
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Given below are two statements : one 1s labelled as Assertion A and the other 15 labelled
as Reason R

Assertion 4 :
Political sociology lies at the interface of Sociology and Potitical Science.
Reason R :

Political Sociology is concerned with the social causes and consequences of given power
distributions within or between societies.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3 A 1s true but R 1s false
(4) A 15 false but R is true

1)1

(2) 2

(3) 3

(4) 4




T & Fua fer av § . vs HAFUA (Assertion A)F w7 A Af@g & ar
wmw (Reason R) & T &

FHFTT A -

TSl HATSTATET, FATSNET 3R aoeifa aa & sevha ot 3mnfRa &
|

HRT R :

TSl HATSRE, @A & Hiay 3R 399 9 afea & @famor &
AT SR 3T gftomat @ geEfea &

SWRIFT FYUAT F 3ol A, A U 710 fawedt # § T8 39GFA e H7
TGeT RITST

(1 A 3R R @ € 3R R AH G s §

2 A 3R R @ € afheT R A ST wér saTEar € &
(3) ATl g offheT REET ol &

(4) AT T & T REE £

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12797]
2[Option ID=12798]

3[Option ID=12799]
4[Option ID=12800]




